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BT T 74 AD | B | & |tk BT T 74 Ao | B | & [k
TAE#MKX i | 6,450 3,061 3,399 | 2,498 HHEMX | 5566 2,820 2,746 [ 1,919
A W OE 861 411 450 336 574 H 892 470 422 346
fIE, i3 418 205 213 167 =) 335 172 163 108
& H 6 174 85 89 65 4273 =% 295 144 151 120
H i 68 35 33 30 T | 1,616 794 822 627
xX JE HT 106 47 59 44 R 210 106 104 68
xE B H 58 26 32 20 X % 203 103 100 68
1 BT 144 67 77 65 EnH F 90 48 42 28
& % W 318 144 174 125 JII bt 113 55 58 30
DS T 1) 99 45 54 50 8 £ 136 77 59 45
[ii] AT 204 82 122 80 7R R 519 266 253 162
® iy 93 37 56 36 53 H | 1,157 585 572 317
#H 1 T 250 116 134 99 Fpr# X E | 3,303 1,635 1,668 990
% T 391 192 199 156 E; - 554 276 278 211
i BT 262 122 140 93 = B B 382 189 193 98
= BT 477 236 241 182 + B & 127 59 68 35
B + R BT 677 321 356 264 N b 236 126 110 32
e M ET 318 164 154 125 IR % 130 60 70 35
H H H#T 101 43 58 39 H oy B 133 57 76 42
i == 1 42 17 25 19 i =3 515 248 267 160
x AT 235 99 136 80 K 7N 228 118 110 62
+ B HT 22 10 12 9 T B 511 264 247 166
3] 3 498 246 252 201 T T & 419 201 218 128
BZLYET—TH 461 213 248 152 wmOl H 68 37 31 21
BZEVETTH 173 88 85 61 o X 3| 4,898 2,350 2,548 | 1,520
FEHMX F 15059 7,641 7,418 | 5,425 = 100 53 47 30
5t FEEE 3| 5,908 2,977 2,931 [ 2,011 b ® 102 46 56 28
3 N 704 367 337 255 E:3) ¥ 41 19 22 11
48 23 439 228 211 165 N 42 23 19 14
B & H 206 100 106 77 m} P 82 40 42 22
Il A | 1,899 938 961 719 3 i8] 39 24 15 10
X W 80 44 36 22 7 = 101 47 54 28
A K OH 116 62 54 31 H #5 | 1,655 777 878 458
[iE R N 180 93 87 52 #r VN 880 438 442 301
= = 44 27 17 19 i g | 1,856 883 973 618
# B 437 206 231 131 WE#HX 5 | 2,455 1,211 1,244 673
T ¥ B 479 228 251 141 3 b 328 163 165 102
gt 5 346 177 169 101 K 5] 460 226 234 133
R B 978 507 471 298 N i3] 174 89 85 45
56 JIlBHIK & | 9,151 4,664 4,487 | 3,414 ;1 H 241 123 118 69
B O#E E| 1,184 571 613 371 T ®m B 165 80 85 43
7N JII | 3,348 1,696 1,652 | 1,197 % = 328 160 168 79
# & W 876 436 440 358 [ H 262 130 132 67
T JI & | 1,551 804 747 622 H & H 313 144 169 80
= J | 2,192 1,157 1,035 866 E F L 86 44 42 30
EMX 3 | 4,797 2,316 2,481 | 1,612 g 98 52 46 25
m OB | 1,521 719 802 569 KHAHMX 3H [15,995 7,879 8,116 | 5,689
e B ¥ 680 332 348 248 i) 7 | 1,586 785 801 537
B P 886 432 454 306 ES 7| 5190 2,589 2,601 | 1,906
& F 45 22 23 14 — A | 1,345 653 692 440
G =) 633 324 309 208 — K | 1,507 667 840 682
JII & 516 257 259 145 g B 987 486 501 230
N R 367 152 215 82 T B B 515 240 275 175
i) B 149 78 71 40 il JiI | 1,561 829 732 586
EZB—TH | 1,019 491 528 356

EZEET_TH | 1,183 595 588 401

EAT =T H | 1,102 544 558 | 376
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H] T 74 Ao [ B | & [##EK H] T 74, Ao | B | & |k
ZHAERMKE | 3,509 1,801 1,798 | 1,262 FE#X F [ 3,133 1,582 1,551 913
MW 109 53 56 44 F L+ B 592 296 296 172
B OE A& 208 106 102 62 o B 828 429 399 244
¥ OE & 342 166 176 113 7R 1= 653 337 316 187
B M 126 63 63 35 m Lk 463 224 239 136
W oA M| 238 125 113 74 X A H 597 296 301 174
-4 35 0 0 0 0 & W Hr H 0 0 0 0
2 X K 829 388 441 263 EPHX & [ 1,976 987 989 546
B » =& 377 186 191 109 B 2 T 322 162 160 79
TrE—T B 77 36 41 28 B O XK 99 48 51 28
THBE=TH 674 353 321 285 %= Hh 400 191 209 122
THRIE=TH 135 76 59 50 ¥ B 366 185 181 101
BAE—TH 484 249 235 199 59 H 319 161 158 98
EA#MK [ 5624 2,790 2,834] 1,675 = bE:3 246 123 123 68
[y ES 615 302 313 213 7 B 224 117 107 50
B A 4 274 136 138 63 AHEMX 5| 2668 1,323 1,345 781
N i 218 114 104 52 A H | 1,052 545 507 331
B A& L[| 1,255 616 639 367 = H 435 203 232 128
B A E o 106 53 53 38 (i H 148 76 72 39
B & | 1,423 704 719 459 Tl # F 238 126 112 63
B & T | 1,110 551 559 307 =) N 204 104 100 61
= 5 478 237 241 143 X oN 166 77 89 49
T 145 77 68 33 A e 169 73 96 45
BT 4969 2424 2545 | 1,456 SR 1L 256 119 137 65
R & 402 183 219 109 NI B[ 2,987 1,446 1,541 831
A | 1,103 546 557 310 N | 2,435 1,195 1,240 692
AN % 451 215 236 129 & H 552 251 301 139
w4y | 232 1,128 1,192 710 BTG HX = | 9,119 4,490 4,629 | 2,753
3] & 350 181 169 96 G N 819 404 415 215
it M 231 110 121 66 mooJ)I & 338 169 169 94
bia & 112 61 51 36 i % 722 369 353 220
oA B H 0 0 0 0 E # | 1,515 741 774 447
HrmX B[ 4340 2,125 2215 | 1,297 FH H | 3,246 1,573 1,673 977
it 1,258 665 593 426 A 324 165 159 91
2 * 304 147 157 93 =] P 156 80 76 40
It + 719 356 363 233 = s 470 234 236 128
[ T N 223 107 116 62 3 & | 1,529 755 774 541
7 piis 266 121 145 73 HHEMKX 3| 3,725 1,868 1,857 | 1,075
G N 143 70 73 48 AT H 285 142 143 81
S = | 1,427 659 768 362 il 401 196 205 150
KATH X EF | 5,988 3,035 2,953 | 1,717 AN 3 69 36 33 19
" H 126 66 60 36 r B £ 281 146 135 90
Hh B 419 206 213 126 T OE £ 177 92 85 49
i F o 79 40 39 24 £ Xk B 219 103 116 58
= £ 689 353 336 204 %0 1T 345 171 174 97
B % r B 2308 1,144 1,164 634 T OB A 118 59 59 35
H 15 546 280 266 127 K B 100 48 52 24
i/ B | 1,782 925 857 549 e VIS 91 48 43 26
# It B H 39 21 18 17 S | 1639 827 812 | 446
EEMX 2F | 2,325 1,126 1,199 662
= #% | 1,357 658 699 391 LR EEA QA
e =22 394 195 199 121
=1 il 204 95 109 56
W =) 330 161 169 81
£ 784 s 40 17 23 13
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